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QUADRATIC EQUATION

1. Check whether the following are quadratic

equations :


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_dfdmzE2wAheF

(z +1)° = 2(z — 3)

o Watch Video Solution

2. Check whether the following are quadratic

equations :

2 -2z =(—-2)(3—1x)

o Watch Video Solution

3. Check whether the following are quadratic

equations :


https://dl.doubtnut.com/l/_dfdmzE2wAheF
https://dl.doubtnut.com/l/_lkL1pXnVGjzu
https://dl.doubtnut.com/l/_7scvZf5HjXuT

(z —2)(z+1) =(x—1)(x+ 3)

o Watch Video Solution

4. Check whether the following are quadratic

equations :

(2 —3)(2z + 1) = z(x + 5)

o Watch Video Solution

5. Check whether the following are quadratic

equations :


https://dl.doubtnut.com/l/_7scvZf5HjXuT
https://dl.doubtnut.com/l/_1oiXRwbQO5Sb
https://dl.doubtnut.com/l/_vnpjXmC35ISv

(22 — 1)(z —3) = (x +5)(x — 1)

o Watch Video Solution

6. Check whether the following are quadratic
equations :

2 +3z+1=(z—1)°

o Watch Video Solution

7. Check whether the following are quadratic

equations :


https://dl.doubtnut.com/l/_vnpjXmC35ISv
https://dl.doubtnut.com/l/_XfS5cet0MBXW
https://dl.doubtnut.com/l/_M7E8hqP2HKsQ

(z +2)° = 2z (z* — 1)

o Watch Video Solution

8. Check whether the following are quadratic

equations:

-4z —z+1=(z—2)°

o Watch Video Solution

9. Represent the following situations in the

form of quadratic equations :


https://dl.doubtnut.com/l/_M7E8hqP2HKsQ
https://dl.doubtnut.com/l/_93J28Bfc0ALB
https://dl.doubtnut.com/l/_FCEriROPu1tl

The area of a rectangular plot is 528m? The
length of the plot (in metres) is one more than
twice its breadth. We need to find the length

and breadth of the plot.

° Watch Video Solution

10. Represent the following situations in the
form of quadratic equations :
The product of two consecutive positive

integers is 306. We need to find the Integers.

° Watch Video Solution



https://dl.doubtnut.com/l/_FCEriROPu1tl
https://dl.doubtnut.com/l/_Aoyh6vD0w1sU

11. Represent the following situations in the
form of quadratic equations :

Rohan's mother is 26 years older than him. The
product of their ages (in years) 3 years from
now will be 360. We would like to find Rohan's

present age.

o Watch Video Solution

12. Represent the following situations in the

form of quadratic equations :


https://dl.doubtnut.com/l/_Aoyh6vD0w1sU
https://dl.doubtnut.com/l/_yvEJ8Hz71bJi
https://dl.doubtnut.com/l/_Py2iPJks0pVL

A train travels a distance of 480 km at a
uniform speed. If the speed had been 8 km/h
less, then it would have taken 3 hours more to
cover the same distance. We need to find the

speed of the train.

o Watch Video Solution

1. Find the roots of the following quadratic

equations by factorisation :


https://dl.doubtnut.com/l/_Py2iPJks0pVL
https://dl.doubtnut.com/l/_rLOxq5Zz4rjm

2 -3z —10=0

o Watch Video Solution

2. Find the roots of the following quadratic
equations by factorisation :

262+ —6=0

o Watch Video Solution

3. Find the roots of the following quadratic

equations by factorisation :


https://dl.doubtnut.com/l/_rLOxq5Zz4rjm
https://dl.doubtnut.com/l/_LCWdkCVue3eu
https://dl.doubtnut.com/l/_ZjtaKf8PCj8g

V222 + T + 52 =0

o Watch Video Solution

4. Find the roots of the following quadratic

equations by factorisation :

2 1
2T a:—|—8—0

o Watch Video Solution

5. Find the roots of the following quadratic

equations by factorisation :


https://dl.doubtnut.com/l/_ZjtaKf8PCj8g
https://dl.doubtnut.com/l/_MxlLUBaZSV0W
https://dl.doubtnut.com/l/_Er2vHC3jnuB8

10022 — 20z +1=0

o Watch Video Solution

6. Solve the problems.

John and Jivanti together have 45 marbles
.Both of them lost 5 marbles each, and the
product of the number of marbles they now
have is 124. We would like to find out how

many marbles they had to start with.

° Watch Video Solution



https://dl.doubtnut.com/l/_Er2vHC3jnuB8
https://dl.doubtnut.com/l/_2fyz52IEzyN6
https://dl.doubtnut.com/l/_bK0QHhzOg6kL

7.Solve the problems.

A cottage industry produces a certain number
of toys in a day. The cost of production of each
toy (in rupees) was found to be 55 minus the
number of toys produced in a day . On a
particular day, the total cost of production
was 750 We would like to find out the number

of toys produced on that day.

o Watch Video Solution



https://dl.doubtnut.com/l/_bK0QHhzOg6kL

8. Find two numbers whose sum is 27 and

product is 182.

o Watch Video Solution

9. Find two consecutive positive integers , sum

of whose squares is 365.

o Watch Video Solution



https://dl.doubtnut.com/l/_8xU8hhMpl422
https://dl.doubtnut.com/l/_DaK54JZG2Zs5

10. The altitude of a right triangle is 7 cm less
than its base . If the hypotenuse is 13 cm , find

the other two sides.

o Watch Video Solution

1. A cottage industry produces a certain
number of pottery articles in a day . It was
observed on a particular day that the cost of
production of each article (in rupees ) was 3

more than twice the number of articles


https://dl.doubtnut.com/l/_WxkgfI9vaw4d
https://dl.doubtnut.com/l/_2ILvgUu0J0Me

produced on that day. If the total cost of
production on that day was 90 , find the
number of articles profit and the cost of each

article.

° Watch Video Solution

1. Find the roots of the following equations :

1

o Watch Video Solution



https://dl.doubtnut.com/l/_2ILvgUu0J0Me
https://dl.doubtnut.com/l/_zxNiAqmNu4Ro

2. Find the roots of the following equations :

1 11 P
c+4 z—-7 307 ’

o Watch Video Solution

3. The sum of the reciprocals of Rehman's ages

, (in years) 3 years ago and 5 years from now is
1

3 Find his present age .

o Watch Video Solution



https://dl.doubtnut.com/l/_zxNiAqmNu4Ro
https://dl.doubtnut.com/l/_U2rsQoyNt7dJ
https://dl.doubtnut.com/l/_E8OceyPVSLht
https://dl.doubtnut.com/l/_d6Xlnjc6WqOn

4. In a class test, the sum of Shefali's marks in
Mathematics and English is 30. Had she got 2
marks more in Mathematics and 3 marks less
in English , the product of their marks would
have been 210. Find her marks in the two

subjects.

o Watch Video Solution

5. The diagonal of a rectangular filed is 60

meters more than the shorter side. If the


https://dl.doubtnut.com/l/_d6Xlnjc6WqOn
https://dl.doubtnut.com/l/_S1R300Mdh7lC

longer side is 30 meters more than the

shorter side, find the side of the field.

° Watch Video Solution

6. The difference of squares of two number is
180. The square, of smaller number is 8 times

the larger number find the two number.

° Watch Video Solution



https://dl.doubtnut.com/l/_S1R300Mdh7lC
https://dl.doubtnut.com/l/_w7lM7cfjkkta

7. A train travels 360 km at a uniform speed. If
the speed had been 5 km /h more, it would
have taken 1 hour less for the same journey.

Find the speed of the train.

o Watch Video Solution

8. Two water taps together can fill a tank in

3
9§ hrs. The tap of the larger diameter takes

10 hours less than the smaller one to fill the


https://dl.doubtnut.com/l/_nnZCp6CjAzBv
https://dl.doubtnut.com/l/_sDnDwFxYEgL7

tank separately. Find the time in which each

tap can separately fill the tank.

o Watch Video Solution

9. An express train takes 1 hour less than a
passenger train to travel 132 km between
Mysore and Bangalore (without taking into
consideration the time they stop at
intermediate stations ). If the average speed of

the express train is 11km/h more than that of


https://dl.doubtnut.com/l/_sDnDwFxYEgL7
https://dl.doubtnut.com/l/_C6TQJtCx3iqE

the passenger train , find the average speed of

the two trains.

° Watch Video Solution



https://dl.doubtnut.com/l/_C6TQJtCx3iqE

